A AL

SAIL | R1 R2 R3 | m#|TCF
1 4705 Banten 1 1 2 4 0.857
2 6306 Raccoon 2 3 1 6 0.856
3 6574 Juno 4 2 5 11 0.861
4 5746 NUCWEPS 5] 4 3 12 0.855
5 4495 otomaru 3 5 4 12 0.855
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1 race

AA—EEZ
9:50:00
SAIL {4 TCF P 22 B ] BIEW |T1=4> 21K 5153
4705 Banten 0.857 0:59:48 3075 10:49:48 1
6306 Raccoon 0.856 1:01:40 3167 10:51:40 2
6574 Juno 0.861 1:01:55 3199 10:51:55 4
4495  |otomaru 0.855 1:02:01 3181 10:52:01 3
5746 NUCWEPS 0.855 1:03:16 3246 10:53:16 5
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2 race

A—pEZ
11:20:00
SAIL £ TCF Pl EZ EF BED [J1=12 215l JEfL
1 4705 |Banten 0.857 0:55:27 2851 12:15:27 = |
2 6574 |Juno 0.861 0:55:34 2871 12:15:34 2
3 6306 Raccoon 0.856 0:56:29 2901 12:16:29 3
4 5746  |NUCWEPS 0.855 0:56:53 2918 12:16:53 4
5 4495 |otomaru 0.855 0:57:46 2963 12:17:46 5
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3 race

AA—EFZ
12:50:00
SAIL 4 TCF P Z k5 BEW [T1=1>a2B5%] Bz
1 6306 |Raccoon 0.856 0:49:51 2560 13:39:51 1
2 4705 _ |Banten 0.857 0:50:35 2601 13:40:35 2
3 5746 [NUCWEPS 0.855 0:53:00 2719 13:43:00 3
4 4495 |otomaru 0.855 0:53:43 2756 13:43:43 4
5 6574 _ |Juno 0.861 0:54:47 2830 13:44:47 5
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